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Calculate the insurance claim from ‘the following particulars
assuming that the insurers met their liability under the policy
on average clause. Stock of a trading concern worth Rs. 40,000
was totally destroyed. The stock was insured for Rs. 30,000
subject to average clause. The value of stock salvaged was
‘Rs. 24,000.

Geneumd eflughiselamig srmef srss Qsrarans & sl er
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Time : Three hours Maximum : 75 marks
PART A—(10x2=20 marks)
Answer any TEN questions.
1. Define Accounting.
SandE Lol euamrefaésanid 5B
2. What is ledger?
CuGr® CTGTMITED GTEIET?
3. What is error of omission?
O Aewp eremmmed cramen?
4, What is revaluation method of depreciation?
LML e Gsuiomantd GTEITMITE) GTEITEN?
5. Define Depreciation.
GaWimend - Bossamid gms.
6.  Write any two advantages of fire insurance.
S&&m1S g6 gCaenid Qam® penenosar or(pg)s.
7. What do you mean by Income and Expenditure account?
eubLOTaT QEaey SIS S eraDTe) ereimen?
8. What is annuity method?
<6 () Qg,rr@a; W eTenHired eremen?
9.  What is Single Entry System?
@hen Ll WD eTeTDIED oTeien?
10. What are Errors?

[SlenLsar eretmmed erebren?
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11.

12.

13.

14. -

What is Receipts and Payments account?
Qumse HMID QFDSTHIBO SEERTES, CTETDITE GTETEH?
What is profit and loss account?
@emU BL L HERTEHE, GTEIDTE) GT6T6u ?

PART B — (5 X 5 = 25 marks)

Answer any FIVE questions.

Briefly explain the method of depreciation.

Gaimen (penpaamer eflfleuns efieuf.

Prepare trial balance from the following :

Rs.
Capital 50,000
Stock 15,000
Sales 65,000
Drawings 8,000
Wages 12,000

Outstanding rent 3,000

Furniture i 14,000
P/L a/c (Cr) 27,000
Purchases . 40,000

* Bills receivables 5,000

Bills payable 6,000
Loan 26,000
Salaries ' - 20,000
Building 56,000

Returns inward 7,000
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P seng ghaamer gperpLdley wpenpuler swmisg eimdmpmt. 1.4.2014
Sienpib 31.3.2015 syeyid Saumenw Fleved Spsamaumy QmBHSS-
1.4.2014 31.3.2015

Qrrésid 500 6,000
eumkid) @ mLiy 10,000 15,000
sy&dlmLy 7,000 10,000
SLamaflaer 30,000 40,‘000
SIEDDEHVET : 6,000 . 6,000

upue sLaibCHTT 6,000 12,000
Blfwrarrgen Gant uder @p. 8,000 sa(hsed wpgeoms @LLILLL S eur
@5. 14,000 Qempg GQsewvelpsns a(hisgssCararint. 2015 wrid 31b
BrGatm(® pigeueL b ey HGTW QeorLid serL_dls.

23. The following is the receipt and payment account of Madras
Sports Club for the first year ending 31t Dec. 2015.

Receipts Rs. Payments Rs.
To Donations 50,000 By Buildings 40,000
To Life member fees By Expenses towards matches 900
(kept in reserve fund)' 4,000 By Furniture 2,100
To Receipt from foot ball By Investments 16,000
matches (kept in match fund) 8,000 By Salaries = 1,800
To Subscriptions 5,200 By Wages ' 600
To Interest on securities 240 By Insurance premium 350
To Locker rent 50 By Telephone 250
To Miscellaneous receipts 350 By Electricity 110
By Sundry expenses 210
By Balance on hand . 5,520
67,840 67,840

Additional Information :

(a) Subscription outstanding Rs. 250, Salaries unpaid Rs. 170,
Wages outstanding Rs. 90, Outstanding bills for Sundry
expenses Rs. 40.

(b) Insurance premium prepaid Rs. 50. Donations received in
full are to be capitalized. Prepare income and expenditure
“a/c and the balance sheet as on 31.12.2015.
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20. .,

21.

22

Gs eremucufilar euemmazdled 10 Cgdl Guo g 2016 ey & euss
CpillLg. wleumpoLw Camlldms Qsimslamar star § iaumss
< Caremansamd, Cogib Spsrapib elurkisdr QsTHes UL (HdrerTer.
2013 2014 2015 2016
Sribu spafl@puy 16,000 15,000 16,000 18,000
Gsmetapsed 41,000 47,200 56,600 78,000
efldLcnan 60,000 66,000 78,000 99,000
Qmf srsfpuy 15,000 16,000 18,000 ?

Bleiule Qurmefler whiy . 3,800. S&smUS @ Camllsasau
g,u_lrrrr Qauls.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.

A machinery was purchased on 1.1.2012 for Rs. 40,000. After 5
years depreciating it by 16% under straight line method, it was
sold for Rs. 5,000 in 31.12.2016. Show the machine account for
the 5 years period. _

1.1.2012 . 40,0006 @@ Qubdrd ambsiulLg. CriGsr @
peopuid 16% Gsliwrend igindastiu’ () obsrar@aerss Ger
31.12.2016e0 . 5,000m@ efmaliul L g. gpg;rrewr@a;rrco Qupdy
HAMEG 5O

How will you prepare statement of fire claims?

& sruSL (B Camrflsans oifidamam ereueumy swimfliing)?

P keeps his books by single entry system. His position on
1.4.2014 and 31.3.2015 was as follows :
' 1.4.2014 31.3.2015

Cash 500 6,000
Bank balance 10,000 15,000
Stock 7,000 10,000
Sundry debtors 30,000 40,000
Furniture 6,000 6,000

Sundry creditors 6,000 12 OOO :

He 1ntroduced an additional capital of Rs. 8,000 during the
financial year. He withdraw Rs. 14,000 for domestic purpose.
" Find out the profit for the year ended 31.3.2015 -
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(.
(POSETLD . 50,000
srsA oy . 15,000
aﬂfj)ucmeq 65,000
T 8,000
g6l 12,000
CegissCouaiqu aum_ans 3,000
DD DS ' 14,000
Qanru /s (eurey) 27,000
QAsrerapse 40,000
QumieugDE@Mw wrHmES H 5,000
Oegidgieugn@ v wrdmsd G 6,000
SL_et 26,000
FDLIGLD 20,000
SLligL 1b ‘ 56,000
2 GTHmHLILID 7,000

Prepare a Bank Reconciliation statement on 31. 3 2016 from the
following information :

(a) Balance as per cash book Rs. 9,500

(b) Cheque deposited but not credited by the banker Rs 4,500
() Cheque issued but not presented for payment Rs. 5 000
(d) Cash directly paid into the bank by a customer Rs. 3,500
(¢) Bank charges recorded in the passbook Rs. 50

(® Dividend collected by the banker and recorded in the
“passbook Rs. 250.

&gga;WI_su,rpgﬂw Qs 31.3.2016 cwmgf)];p&rrm cumIE) 5lﬂ83L®LD
LI igwiéd gamblene suimit Qaws.

(=) Qrrés erligemig @iy . 9,500.

(=) srCemenevaer Qegussiul () @emmiLd @era%]uﬁlmrﬂreu auiTey
meussILLTgena ¢f. 4,500.
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16.

17.

(@) eupmsiiuLL SnGFTema 6T @enmib LSS DTS
swirubssrgeane @p. 5,000.

(7) amdleo GCploLwurs @m amgsoswrart Ceasdug
5. 3,500. '

(2) e Qeog)l Lssasded uSHuiul L ksl siLewd . S0.

(ear) auiifll@ergmed UBSTSTWD eu@IESLLLE, eumd GCsdg)
H&S&SSe ufwicinl Berteng) ap. 250

On 1% Jan. 2015 a fixed asset is purchased for Rs. 50,000.

Depreciation is to be provided annually according to the straight

line method. The life of the asset is 10 years and its scrap value
Rs: 10,000. Prepare asset account for the first three years.

1.1.2015 gam . 50,0005@ @@ Hoesfdsrgg eummsliuLlL gt
CriaCam B weopuld Har@GGsmmbd Cslwreand Bé&sLLEHDS.
<i§Qersden LiwgeTer pujar 10 am@ser Coaid <igar sfley
Qumrmer ALY ep. 10,000. psed papramBaEEssEE CEnss samméms
swnfl&Esaib.

From the following information calculate the amount to be
shown in an income expenditure account for the year ended
31.12.2015.

(a) Stock of stationery on 1.1.2015 Rs. 400
(b) Creditors for stationery on 1.1.2015 Rs. 250
(¢) Advance paid for stationery carried from 2014 Rs. 60.
(d) Stock of stationery on 31.12.2015 Rs. 75
(e) Creditors for stationery on 31.12.2015 Rs. 150
() Advance paid for stationery on 31.12.2015 Rs. 45
(g) Amount paid for stationery during the year 2015 Rs. 1,200.
ECip Qa;rr@é;a;ﬂut.’.@chm«l eeuriisafies @mpg 31.12.2015 sienmy
aueuns Geweilans seamsdler Cgremrms a'i;uq.u_l er(p g QummeTsaficn
wlienL sassl(H\s.
(=) 1.1.2015 ey erpgi@umpLsafien wHliy en. 400.
(<) 1.1.2015 iemy erps@urmLsailar Bgrar sLafbGamt whiy
5. 250.
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19:

(&) 2014 yewrged @pangmi_ly. Qeaussul L eripgh@QummL geflen
wHiy em. 60. : ;

(FF) 31.12.2015 et eripg@ummL_sefiem gy op. 75:

(20) 31.12.2015 e erg@un(mLsefian Bsmen sLatbCsami i
ap. 150.

(2er) 31.12.2015 Qe (pednlly. QFusHu  erpsQummLseflen
&L ep. 45.

(er) 2015 yaw(® <emm GFaussriul L agOurmlseflar iy
5. 1,200.

A fire occurred at the premises of a trader on 31.5.2015
destroying a great part of his goods. His stock at 1.1.2015 was
Rs. 60,000. The value of stock salvaged was Rs. 13,500. The
gross profit on sale was 30% and sales amounted to Rs. 1,53,000
from January to date of fire, while for the same period the
purchases amounted to Rs. 1,03,500. Prepare a statement of
claim.

3lib GgH Cw wrgb 2015 e e eSwrurfiuler efwimumy
Bneasdle § elusg gpul® Hopu Qurmlsdr Cegwmuler. 1o
Gsd smemeufl 2015 wenmmy epsmiy @ 60,000, BSlstun L
Qunperseiien wHiy . 13,500 efpuemen G- Qorgs emud 30%
OO eSlHLIeneT Qgmens 1,53,000. mareul pse & efluigg) BLbs Cad
auewy, Cuogid <Cs sresdHer Qa;rrd‘r@g,d; Qgrens 1,03,500.

ﬁ&@a;mﬂé;_ma;és&rra; UL Iq WIenen swrflgs. .

Fire occurred in the premises of K on 10th May 2016. In order to
make a claim on their fire policies in respect of the stock they
ask your advice and you are able to obtain the following
information : \

2013 2014 2015 2016
Opening stock -16,000 15,000 16,000 18,000

Purchases 41,000 47,200 56,600 78,000
Sales 60,000 = 66,000 78,000 99,000
Closing stock 15,000 16,000 18,000 ?

The stock salvaged Rs. 3,800; Compute the amount of claim.
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